I. Disney, Universal, and MGM, among others, have movie studios in Hollywood.  Each of these major studios also has one or several subsidiary studios; Disney for example, has Touchstone.

a. What Market Structure Best Describes These Movie Production Companies?  Explain
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b. Why would each Studio have Subsidiary Studios?  Explain
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Consider the movies that have come out under the Disney name and those that have come out under Touchstone: 
c. Are they different?  Explain
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IV. Why might some people claim that the breakfast cereal industry is monopolistically competitive but that the automobile industry is an oligopoly?  [In both cases, about eight to ten firms dominate the industry]  Explain
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V. The graph that follows shows an individual firm in long run equilibrium.

a. In which market structure is this firm operating?  Explain
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Compare the long-run quantity and price to those of a perfectly competitive firm:
c. What accounts for the difference?  Explain
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b. Is the equilibrium price greater than, equal to, or less than marginal cost?  Why or why not?
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VIIII. What is the cost to a firm in oligopoly that fails to take rivals actions into account? Explain
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Suppose the firm operates along demand curve D1, shown below, as if no firms will follow its lead in price cuts or price rises.  In fact, however, other firms do follow the price cuts, and the true demand curve below price P1 lies below D1:

a. If the firm sets a price lower than P1, what will happen?  Explain
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